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const
m=0.5;
v01=10;
H1=2;
Q=2;
g=9.8;

var
v,v0,s,t,sina,cosa,H:extended;

begin
s:=0;
t:=0;

t:=t+sqrt((2*H1)/g);
s:=s+(v01*sqrt((2*H1)/g));
v:=sqrt(sqr(v01)+2*g*H1);
cosa:=v01/v;
sina:=sqrt(1-sqr(cosa));

while true do begin
if (m*sqr(v))/2>=Q then begin
v0:=sqrt(sqr(v)-((2*Q)/m));
H:=(sqr(v0)*sqr(sina))/(2*g);
t:=t+(2*sqrt((2*H)/g));
s:=s+(2*v0*cosa*sqrt((2*H)/g));
v:=sqrt(sqr(v0)*sqr(cosa)+2*g*H);
cosa:=v0*cosa/v;
sina:=sqrt(1-sqr(cosa));

end
else break;

end;

writeln('S=',s:0:3,' t=',t:0:3);
readln;

end.
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program a;
var T, v, Q: real;
const g=9.8; m=0.5; h=2;
begin

Q:=g;
v:=sqrt(2*g*h);
T:=v/g;
while Q>=2 do

begin
Q:=Q-2;
v:=sqrt(2*Q/m);
T:=T+2*v/g;
end;

writeln ('T=', T);
end.
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